Mtest2_1.css
@charset “utf-87;
body {

font—family: “"A A4 A", sans-serif;

#container {
width: 300px;
height: 280px;
border: 1px solid #888;
display: grid;
grid-template-rows: 50px 1fr 50px;
grid-template-columns: 1fr;

}
#box1 {
grid-row: 1/2;grid-column:1/2;
width: 250px;
margin: 0 auto;
border: 1px solid #00f;

}

#box2 {
grid-row: 2/3;grid-column:1/2;
width: 250px;
margin: 0 auto;
background-color: #fee;
border: 1px solid #f00;
display: grid;
grid-template-rows: 1fr;
grid-template-columns: 1fr;

}
#box3 {
grid-row: 3/4;grid-column:1/2;
width: 250px;
margin: 0 auto;
border: 1px solid #00f;

}

#box4 {
width: 150px;
margin: 0 auto;
background-color: fefe;
border: 1px solid #000;

Ctextl |
font-size: 16px;
| ine-height: 20px;

GriddD1fr &overflow(1_1)

HMtest2_1. html
<IDOCTYPE html>
<html lang="ja">
<head>
<{meta charset="utf-8" />

#IEER 2024.06. 12

<meta name="viewport” content="width=device-width, initial-scale=1.0" />

<titledTest1_1</title>
<link rel="stylesheet” href="reset2.css”>
<link rel="stylesheet” href="test01_1.css”>
<{/head>
<body>
{div id="container”>
<div id="box1">
<p class="text1”>BOX1</p>
</divy
<div id="box2">
{div id="box4">

<p class="text1”>1FEDT—%2</p>
<p class="text1”>2FBEDTF—%</p>
<p class="text1”>3TFHDT—%2</p>
<p class="text1”>47EDT—%</p>
<p class="text1">5FHDT—42</p>
<p class="text1”>6TEDT—%</p>
</divd
</divy

{div id="box3">
<p class="text1”>BOX3</p>
</div>
</divy
</body>
</html>
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heightER1G A% . .
document. getElementByld (" box1').clientHeight;

container height = 280px
box1 height: 48px
box2 height: 178px
box3 height: 48px
box4 height: 176px



GriddD1fr &overflow(1_2)

(box-sising = content-box)

Mtestl 2 css Mtest! 2 html FRIERL 2024.06. 12
gcgar?et utf-8": <IDOCTYPE html>
ody o
font-family: “"A A 1) #", sans-serif; gﬂgg(lblang ja™
. <{meta charset="utf-8" />
#Contalner { ) <meta name="viewport” content="width=device-width, initial-scale=1.0" />
width: 300px: <titledTestl_2</titled
he|ght: 280px; ] <link rel="stylesheet” href="reset2.css”>
border: 1px solid #388; <link rel="stylesheet” href="test01_2.css”>
display: grid; <{/head>
grid-template-rows: 50px 1fr 50px; <body>
grid-template-columns: 1fr; {div id="container”>
1}ibox1 ( <div id="box1">
grid-row: 1/2;grid-column:1/2; </§?V§'ass‘ text1”>B0X1</p> BOX1
width: 250px; <div id="box2">
margin: 0 auto. _ <div id="box4”> ———
border: 1px solid #00f; <p class="text1” > 1 FEDTF—4</p> l{TECD_T.—‘f?
b e LR 27507 5
- . S .1 /0. p class="text1">3TEHDT— p 4= —
grld—row. 2/$,gr|d—column.1/2, <p class="text1” >4 FEDT—H{/p> ﬁffggi_g
width: 250px; ¢p class="text1”>5 7 H M F—5</py asald
margin: 0 auto; _ <p class="text1”>6 FEDF—%</p> 5{7BD7T—%
background-color: #fee; <p class="text1”>747BDT—%</p> 6{TBD7T—%
border: 1px solid #f00; <p class="text1”>84TE DT —%</p> 758057 —4
display: grid; . . <p class="text1”>9TBEDTFT—%</p> = =
grid-template-rows: 1fr; <p class="text1”>10ITE DT —%</p> 3 THMmT—%
} grid-template-columns: 1fr; </d|v> o = )
</divy T =
#box3 { o div id="box3"> 10f7RDT —&
grid-row: 3/4;grid-column:1/2; <p class="text1”>BOX3</p> BOX3
width: 250px; </divy
margin: 0 auto. </divy
} border: 1px solid #00f; </body> _—
html> u .
#box4 { </htm *BOX4AD T HF R MTIHEBCLTAH—N—TR—-SE:
width: 150px; WEREDKRASA 2+ heightERE A &
margin: 0 auto; * container Mheight : 280px document. getEIementById(’ box1').clientHeight;
Pl gl g s A
order: 1px soli ? : [align-self: endtsiE’d container height = 280px
*BOX4ADF—H 7% 10 box1 height: 48px
Stextl {0 . * BOX41Zoverflow:hiddentgE % L box2 height: 202px
font-size: 1_6px. _ - box3 height: 48px
line-height: 20px; L i box4 height: 200px

- BOX2Mheight
AKFEDfE : 1fr=280-50-50-5x 2-border M2px=168
EMRDIE : FEFRBOX4DheightF# Z D F F kE L T202px

- BOX4®Mheight=17E20px x 1047=200px
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GriddD1fr &overflow(1_3)

(box-sising = content-box)

Mtestl 3. css Mtest! 3. html FRIERL 2024.06. 12

gcgar?et “utf-8”; <IDOCTYPE html>
O y :II . ”
font-family: “AA 1) #+", sans-serif; 2E225>|ang ja®
<{meta charset="utf-8" />
<meta name="viewport” content="width=device-width, initial-scale=1.0" />
<title>Test1_3</titled>
<link rel="stylesheet” href="reset2.css”>
<link rel="stylesheet” href="test01_3. css”>
<{/head>
<body>
{div id="container”>

#container {
width: 300px;
height: 280px;
border: 1px solid #888;
display: grid;
grid-template-rows: 20% 60% 20%;
grid-template-columns: 1fr;

Lbox1 ( <div id="box1">

grid-row: 1/2:grid-column:1/2; </§?V§'ass‘ text1™B0X1</p>

width: 250px; <div_id="box2"> Bl

margin: 0 auto. _ <div id="box4">

border: 1px solid #00f; ép class:"text}";‘l ??Ew?_géfp;

p class="text1”>2{TBEDT— p = =

#box2 { o e <p class="text1”>3TEDT—%</p> 1TI§@I_’9

grld—row. 2/$,gr|d—column.1/2, <p class="text1”>4FEDT—%<{/p> 2 T7HMmT—4%

width: 250px; <p class="text1”>64TBDT—%<{/p> 3FBET—4

margin: 0 auto; _ <p class="text1">6TEDT—%<{/p> 45805 —%

background-color: #fee; <p class="text1">74TBDT—4%2</p> 2l A

border: 1px solid #f00; p class="text1”>8 T B DT —2</p> 51”?5@7‘.—’5’
bbox3 [ <p class="text1”>9THDT—4</p> 6{TRDT—4

Ot row: 3/4:grid-column:1/2: </§ri>v§|ass— text1”>107B DT —%</p> 7?‘{@@1‘.—’9

width: 280px: </div> 8{7Bm7—%

margin: 0 auto; . ddiv id="box3"> SHTEDT—%

border: 1px solid #00f; ) ép §|assz”text1”>30x3</p> BORGS 10780 —4
hoxd | gdh!

width: 150px; <{/body>

margin: 0 auto; </html>

background-color: fefe;

border: 1px solid #000;

W=

.textl |
font-size: 16px;
| ine-height: 20px;

- GridDEREMETERE
MEEDRAS 2+

- containerMheight : 280px

- BOX2MheightigE HExIE7E60%
- BOX2IZalign-self: endf§E % L
-BOX4DT—% 178 : 10

- BOX4IZoverflow:hidden{§E 7 L

R

CE1ILRLDTL—LIFHEINT

* BOX2®Mheight : 280 x 60%=168px

- BOX4®Dheight=4TE20px x 1047=200px

* BOX4[ZBOX2D T H 9. BOX2FE = IEBOX4IZx T B

overflowDMIBA HE

height &\ A&

document. getElementByld (" box1').clientHeight;

container height = 280px
box1 height: 54px
box2 height: 166px
box3 height: 54px
box4 height: 200px



Mtest1_4.css
@charset “utf-87;
body {

font—family: “"A A4 A", sans-serif;

#container {
width: 300px;
height: 280px;
border: 1px solid #888;
display: grid;

grid-template-rows: 20% 60% 20%;

grid-template-columns: 1fr;

}
#box1 {

grid-row: 1/2;grid-column:1/2;

width: 250px;
margin: 0 auto;
border: 1px solid #00f;

Lbon {

grid-row: 2/3;grid-column:1/2;

width: 250px;

margin: 0 auto;
background-color: #fee;
border: 1px solid #f00;
overflow: hidden;

Lbox3 {

grid-row: 3/4;grid-column:1/2;

width: 250px;
margin: 0 auto;
border: 1px solid #00f;

}

#box4 {
width: 150px;
margin: 0 auto;
background-color: fefe;
border: 1px solid #000;

Ctextl |
font-size: 16px;
| ine-height: 20px;

Gridad1fr &overflow(1_4)

(box-sising = content-box)

HMtest1_4. html
<IDOCTYPE html>
<html lang="ja">
<head>
<{meta charset="utf-8" />

#IEER 2024.06. 12

<meta name="viewport” content="width=device-width, initial-scale=1.0" />

<titledTest1_4</title>
<link rel="stylesheet” href="reset2.css”>
<link rel="stylesheet” href="test01_4.css”>
<{/head>
<body>
{div id="container”>
<div id="box1">
<p class="text1”>BOX1</p>
</divy
<div id="box2">
{div id="box4">

<p class="text1”>1FEDT—%2</p>
<p class="text1”>2FBEDTF—%</p>
<p class="text1”>3TFHDT—%2</p>
<p class="text1”>47EDT—%</p>
<p class="text1">5FHDT—42</p>
<p class="text1”>6TENDT—%</p>
<p class="text1”> 7 TFEDT—42</p>
<p class="text1”>8FTE DT —%</p>
<p class="text1”>9TFHDT—42</p>
<p class="text1”>10{TEDT—%</p>
</divd
</divy

{div id="box3">
<p class="text1”>BOX3</p>
</div>
</divy
</body>
</html>

R

- Gr i AR HEE (239 Dover flowtEE
MEEDRA Y b

- containerMheight : 280px

- BOX2Dheightigx® HE*tIEE60%

- BOX2IZalign-self: endigE7% L
-BOX4DT—H 178 : 10

- BOX2[Zoverflow:hidden
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- BOX2Mheight : 280 x 60%=168px

- BOX4Mheight=47520px x 1097=200px

» BOX41ZBOX2D FIZ(ZAHHT .

- BOX2Dheight60% (168px) [ZxtF Boverf lowLIEAHERE L TLVD
*GridtExtiEEICx T BoverflowiEEITHERET B,
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heightER1G A% . .
document. getElementByld (" box1').clientHeight;

container height = 280px
box1 height: 54px
box2 height: 166px
box3 height: 54px
box4 height: 200px



GriddD1fr &overflow(1_5)

(box-sising = content-box)

Mtest! 5 css Wtest! 5 html AR 2024.06.12
%cgars{et “utf-8"; <IDOCTYPE html>
ody html lang="ja">
font-family: “AA 1)Z", sans-serif; 2he2d> ane e
. <{meta charset="utf-8" /> o .
#Contalner { ) <meta name="viewport” content="width=device-width, initial-scale=1.0" />
width: 300px; <title>Test1 _5</title>
height: 270px; . <link rel="stylesheet” href="reset2. css”>
border: 1px solid #888: <link rel="stylesheet” href="test01_5.css”>
display: grid; {/head>
grid-template-rows: 50px 1fr 50px; <body>
grid-template-columns: 1fr; {div id="container”>
} <div id="box1”>
#box1 { . o <p class="text1”">BOX1</p>
grid-row: 1/2;grid-column:1/2; <Jdivd
width: 250px; <div id="box2"> BOX1
margin: 0 auto: _ <div id="box4">
border: 1px solid #00f; ép class:"texﬂ";‘l ﬁso)ﬁ“—‘—ggp;
p class="text1">24TBEDT— p = =
#box2 { o o <p class="text1">3TEDT—4%</p> 1%15@1_-_9
grid-row: 2/3;grid-column:1/2; <p class="text1">4TEDT—%</p> 2787 —%
width: 250px; <p class="text1">5{TEDT—%</p> 3FEDT—%
margin: 0 auto; _ <p class="text1”>6THDT—2</p> = —»
background-color: #fee; <p class="text1”> 77BN T—%</p> 47807 —5
border: 1px solid #f00; <p class="text1”>8THMT—5%</p> 5{IEDT —¥
} overflow: hidden; <p class="text1">9TEDT—42</p> 6 TBDT—4
b ox3 { </§pi>v§|ass= text1”>107B DT —%</p> 7?@@2‘—:_‘9
grid-row: 3/4;grid-column:1/2; </divy 8{THDT —%
width: 250px; <div id="box3">
margin: 0 auto; _ <p class="text1”>BOX3</p> BOA
border: 1px solid #00f; </divy
</divy
#box4 { . <{/body>
width: 150px; </html>

margin: 0 auto;

background-color: #efe; miEE

border: 1px solid #000; - GridiextisEI=xtd Boverflowis®
WEEDRA > b+

't%E“c—s{ize' 16px: . containerd?]hebigt :thOpx
line-height: 20px; Eg))g[a:)g?:gni%ﬁ enzj*ﬁi-fg L height B 77 & , , . o
- BOXAD F—4 178 - 10 document. getElementByld (" box1').clientHeight;
- BOX2[Zoverflow:hidden container height = 270px
- box1 height: 48px
L i ‘ box2 height: 168px
* BOX2mheight : 1fr=270-50-50=170px box3 height: 48px
- BOX4height=97520px x 1047=200px box4 height: 200px

» BOX41ZBOX2D FIZ(ZAHHT, N
- BOX2D1fr (170px) 2%t 3 BoverflowLIEAERE L TLVD



Mtest1_6.css
@charset “utf-87;
body {

font—family: “"A A4 A", sans-serif;

#container {
width: 300px;
height: 280px;
border: 1px solid #888;
display: grid;

grid-template-rows: 50px 1fr 50px;

grid-template-columns: 1fr;

}
#box1 {

grid-row: 1/2;grid-column:1/2;

width: 250px;
margin: 0 auto;
border: 1px solid #00f;

Lbon {

grid-row: 2/3;grid-column:1/2;

align-self: end;

width: 250px;

margin: 0 auto;
background-color: f#fee;
border: 1px solid #f00;
display: grid;
grid-template-rows: 1fr;
grid-template-columns: 1fr;

LboxS {

grid-row: 3/4;grid-column:1/2;

width: 250px;
margin: 0 auto;
border: 1px solid #00f;

#tbox4 {
width: 150px;
margin: 0 auto;
background-color: #efe;
border: 1px solid #000;

.textl |
font-size: 16px;
[ ine-height: 20px;

GriddD1fr &overflow(1_6)

(box-sising = content-box)

HMtest1_6. html
<IDOCTYPE html>
<html lang="ja">
<head>
<{meta charset="utf-8" />

#IEER 2024.06. 12

<meta name="viewport” content="width=device-width, initial-scale=1.0" />

<titledTest1_6</title>
<link rel="stylesheet” href="reset2.css”>
<link rel="stylesheet” href="test01_6.css”>
<{/head>
<body>
{div id="container”>
<div id="box1">
<p class="text1”>BOX1</p>
</divy
<div id="box2">
{div id="box4">

<p class="text1”>1FEDT—%2</p>
<p class="text1”>2FBEDTF—%</p>
<p class="text1”>3TFHDT—%2</p>
<p class="text1”>47EDT—%</p>
<p class="text1">5FHDT—42</p>
<p class="text1”>6TENDT—%</p>
<p class="text1”> 7 TFEDT—42</p>
<p class="text1”>8FTE DT —%</p>
<p class="text1”>9TFHDT—42</p>
<p class="text1”>10{TEDT—%</p>
</divd
</divy

{div id="box3">
<p class="text1”>BOX3</p>
</div>
</divy
</body>
</html>

W= X

s BOX4A —/N—TO—RETTHIZIEE
MEEDRA > b+

- containerMheight : 280px

- BOX2DheightfgEe 1fr

- BOX2IZalign-self: endig%E
-BOX4DT—H 178 : 10

- BOX21Zoverflow:hidden#z L

i

- BOX2®Mheight : 1fr=280-50-50=180px & iz B X &E= & Z 5202px

- BOX4Mheight=47520px x 1097=200px

+ BOX4(XBOX2 % #5535k L TEITINE,

- #&R & L ToontainerdheightZ FAMICIEAH L T
%

L\éo
(I 2)ERLC, A—nN—ToO—F B kalign-sel TOEL

L

BOX1

1787 —2
2787 —%
3FEDT—%
4{7BDT—%
57BnT—4
6 THDT—%
77807 —%
8{TEmT—4
QfTHDT—%
10i7TEDT —%

BOX3

heightER1G A% . .
document. getElementByld (" box1').clientHeight;

container height = 280px
box1 height: 48px
box2 height: 202px
box3 height: 48px
box4 height: 200px



GriddD1fr &overflow(1_7)

(box-sising = content-box)

Mtestl 7 css Mtest! 7 html HRIERL 2024.06. 12
t@))Cgal's{et “utf-87; <IDOCTYPE html>
oay ) <html | ="ja">
font-family: “A 4 A", sans-serif; <herer\ld> ane e
. <{meta charset="utf-8" /> o .
#Contalner { ) <meta name="viewport” content="width=device-width, initial-scale=1.0" />
width: 300px: <titledTestl 7</title>
height: 270px; . <link rel="stylesheet” href="reset2. css”>
border: 1px solid #888: <link rel="stylesheet” href="test01_7.css”>
display: grid; {/head>
grid-template-rows: 50px 1fr 50px; <body>
grid-template-columns: 1fr; {div id="container”>
} <div id="box1">
#box1 { . o <p class="text1”>BOX1</p>
grid-row: 1/2;grid-column:1/2; </divy
WIEE?;]'Z?)OEE‘I;:O' ddiv id="b062"£>1 N BOX1
ma : . <div id="box4” = =
border: 1px solid #00f; <p class="text1”> 14TEDF—4</p> lf}'ECDZ 3
<p class="text1”>21TEDT—%</p> 2{7BDT —%
#box2 { o o <p class="text1”>31TEDT—%</p> 378074
grid-row: 2/3:grid-column:1/2; <p class="text1">4TEDT—%</p> 480 —%
align-self: end; <p class="text1">64TEDT—%</p> = =
width: 250px; <p class="text1">6TEDT—%</p> S%IECDZ_Q
Earﬁlﬂbugdagg?br' 4o ép class:"text}";7ﬁsd)f—ggpi 6{TBOT—%
ackg - e ; p class="text1">81TE D T— p 747 F—
border: 1px sol '(.i #700; <p class="text1”>94TBDT—%<{/p> 8’[}2?}3_2
overflow: hidden; <p class="text1">10THDT—%</p> i
display: grid; </divy QBT —%
grid-template-rows: 1fr; </divy 10i7TBm7—%
grid-template-columns: 1fr; <div id="box3">
) <p class="text1”>BOX3</p> BOX3
#box3 { . </div>
grid-row: 3/4;grid-column:1/2; </divy
width: 2(5)0px: </body>
margin: auto; html>
border: 1px solid #00f; </htm
} EHE
#box4 { . - (126) [Zoverflow:hidden% &0
width: 150px; BREEDORA D b
L IC o rer e e 20
border: 1px solid #000; Egﬁ%@?:gﬂfi‘gﬁ enzﬂ:ﬁ'i heightB {77 i% , , , L
- BOXAD F—4 178 - 10 document. getElementByld (" box1').clientHeight;
Jtextl [ . - BOX2IZoverflow:hiddentgE container height = 280px
ant-ﬁlzeh !ﬁ%v _ . box1 height: 48px
Ine-height: 20px: WETE . box2 height: 202px
- BOX2Mheight : 1fr=280-50-50=180px & % 5 < & & = 5202px box3 height: 48px
- BOX4MDheight=17520px x 1017=200px box4 height: 200px

+ BOX4(XBOX2Z#55k L TEITINA,

- BOX2IZ EAMICHEER L., BOXIICEL > TLVS,

- (1.6) &g 5 &, BOXSDHKH YIZBOXTIZEZZ > TULVS,
- COEEILAT AR, .
salign-selfZiEET b Loverflowh e L i< 25,



GriddD1fr &overflow(1_8)

(box-sising = content-box)

Wtest! 8. css Wtestl 8. html HSARRL 2024.06. 12

(gcgars{et utf-8”; <IDOCTYPE html>

ody e
font—family: “A A 1) #A", sans-serif; 2E225>Iang ja®>

. <{meta charset="utf-8" />

#contalner { ) <{meta name="viewport” content="width=device-width, initial-scale=1.0" />
width: 300px: {titled>Test1 _8</titled>
height: 280px; . <link rel="stylesheet” href="reset2. css”>
border: 1px solid #388; <link rel="stylesheet” href="test01_8.css">
display: grid; <{/head>
grid-template-rows: 50px 1fr 50px; <body>
grid-template-columns: 1fr; <div id="container”>

} <div id="box1”>

#boxt { o <p class="text1”>BOX1</p>
grid-row: 1/2;grid-column:1/2; </divy
width: 250px; <div id="box2"> BOX1
margin: 0 auto: _ <div id="box4">
border: 1px solid #00f; <p class="text1”>1FEDT—%2</p>

<p class="text1”>2FBEDTF—%</p>

#box2 { o o <p class="text1”>31TEDT—%</p>
grid-row: 2/3:grid-column:1/2; <p class="text1">4TEDT—4</p>
align-self: end; <p class="text1">54TEDT—%</p>
width: 250px; <p class="text1”>6THDT—2</p>
it SR AREEER i E A

el - : p class="text1">84THDT— p = ——
border: 1px solid #f00; <p class="text1”>9ITEDT—%2</p> ;EECDZ .
display: gridi <p class="text1">1047 B O F—%</p> TEOT —%
grid-template-rows: 1fr; <Jdiv> 37Bo7—45
grid-template-columns: 1fr; </div> AEE0T

) <div id="box3">

#oox3 { o <p class="text1”>BOX3</p> BOX3
grid-row: 3/4;grid-column:1/2; </divy
width: 250px; </divy
margin: 0 auto; </body>
border: 1px solid #00f; <htmly

#box4 | WEEORA b
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